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�ZÏ\ÍÁÍÁÛdÎ\Ý�ÓTÕqÛ Í`Ç=�}É�Ï��*ÒqÊ Þ ÎÁÑqË�ÕT×*ÒqÎ6� Þ ÎMÇ�Î�ÍpÝ�Õ¼�¡ a�NÍpÝ�Ù Ox1x2x3 ¢
ÒqÊ Þ ÎÁÑqË�ÕT×*Ò�ÏMÚ Þ ÓQÚTÛdÎ6�}átÎMÇqÙ6£Ò�ÏMÚ¯Ñ�ÊpÜ
ÏMÓTÝNÎ\ËQÏ»ÍpÕqÍpÝNÊÁÛ�Ï.Ü}Î�Î\ÓNÑqÕTÒ�ÏMÝM�M�¯Ë�ÕT×�ÊpÒTÕqÊ�×*Õ
ÑqÜ}Î�ÍpÝ�Õ*Ë Þ ÎMÇ�Î�ÍpÝ�Õ�Î Þ ÕqÍpÌ�ËQÏ\ÊpÝNÍuÚ��}Ó�ÏMË�ÒqÊpÒTÕTÚTÛZÕ

∂ ¤
∂t

+ ( ¤ · ∇) ¤ = −1
ρ∇p, (1)

7_KLE ¤ = 0 (2)
Í áÁÓ�ÏMÒTÕTÉTÒTÌ¨ÛZÕ��NÍ`Ç�Î\Ë�ÕTÚTÛZÕ ¤ · ν|S = 0

Ø�áuÑ�Ê
S ¢

áÁÓ�ÏMÒTÕTâ�Ï Þ ÎMÇ�Î�ÍpÝ�Õ¼Ø ν ¢
ËNÊpÜTÝNÎ\Ó÷ÒqÎ\ÓqÛ�ÏbÇqÕ÷Ü

áÁÓ�ÏMÒTÕTâqÊ��� »ÓTÕ�ÎÁÑqÒqÎ\ÓqÎÁÑqÒqÎ�Û4Ë�Õ
Ö
ÓqÊpËNÎ�Û´ÑqË�ÕT×�ÊpÒTÕTÕ�×*Õ
ÑqÜ}Î�ÍpÝ�Õ�ËNÊpÜTÝNÎ\Ó¯Ë�Õ
Ö
ÓQÚ
Ω = 1

2

5)469 ¤ ÒqÊW¥bÏMË�ÕqÍpÕTÝÎ\Ý�Ü}Î�Î\ÓNÑqÕTÒ�ÏMÝ
x1, x2, x3

��¦ÄÊpÜTÝNÎ\ÓTÒqÎ�Ê Þ ÎMÇ�Ê ¤ ÛdÎt×*ÒqÎ*Ò�Ï��TÝ�Õ Þ Î*ÊpátÎ*Ë�Õ
Ö
ÓTÈàÕ Ó�Ï\ÍjÖQÎt×%Ñ�ÊpÒTÕTÈ¨§ ©6ª¥Ð

¤ = Ω× « −∇ϕ, (3)

áuÑ�Ê « = (x1, x2, x3)
Ø
ϕ ¢

ápÏMÓqÛdÎ\ÒTÕTÉqÊÁÍpÜ
ÏMÚ[¬/�}ÒTÜTâTÕTÚ´Í»áÁÓ�ÏMÒTÕTÉTÒTÌ¨Ûu�NÍ`Ç�Î\Ë�ÕqÊÁÛ

∂ϕ

∂ν

∣∣∣∣
S

= (Ω× « ) · ν. (4)

�.Ó�ÏMË�ÒqÊpÒTÕTÚ ß}Ê`ÇqÙNÛZátÎMÇqÙ�â�Ï
ØêÎ Þ ÕqÍpÌ�ËQÏMÈX­�ÕqÊ<Õ�¥tÛdÊpÒqÊpÒTÕqÊ�ËNÊpÜTÝNÎ\Ó�Ï*Ë�Õ
Ö
ÓQÚVØTÕqÛdÊpÈ.Ý�Ë�Õ
Ñ®§ ©6ª

dΩ
dt

= (Ω · ∇) ¤ .
¯<Í Þ ÎMÇqÙ¡¥C��Ú®°+©3±�Õ²�}ÉTÕTÝ�Ì�ËQÏMÚVØ
ÉTÝNÎ Ω

ÒqÊa¥bÏMË�ÕqÍpÕTÝ�Î\Ý*Ü}Î�Î\ÓNÑqÕTÒ�ÏMÝ
x1, x2, x3

Ø Þ ÊpÓqÊ Þ Õ�³%ÊÁÛ��}Ó�ÏMË�ÒqÊpÒTÕTÚß}Ê`ÇqÙNÛZátÎMÇqÙ�â�Ï�Ë�Ë�Õ
Ñ�Ê
−Ω̇i = ∂

∂xi
(Ω · ∇)ϕ, i = 1, 2, 3, (5)

áuÑ�Ê
Ω1,Ω2,Ω3 ¢

Ü}Î�Û Þ Î\ÒqÊpÒTÝ�ÌýËNÊpÜTÝNÎ\Ó�Ï Ω
�

 »ÓTÕBÎÁÑqÒqÎ\ÓqÎÁÑqÒqÎ�Û Ë�Õ
Ö
ÓqÊpËNÎ�Û ÑqË�ÕT×�ÊpÒTÕTÕ
Ω̇i
Ø
i = 1, 2, 3

ØêÒqÊ�¥bÏMË�ÕqÍuÚ
Ý Î\Ý�Ü}Î�Î\ÓNÑqÕTÒ�ÏMÝ
x1, x2, x3

�
´xÎ\áuÑ Ï%ÑTÇqÚ Í1�3­%ÊÁÍpÝ�ËNÎ\ËQÏMÒTÕTÚ´Ë Þ ÎMÇ�Î�ÍpÝ�Õ4ÎÁÑqÒqÎ\ÓqÎÁÑqÒqÎ\átÎ�Ë�Õ
Ö
ÓqÊpËNÎ\átÎ*ÑqË�ÕT×�ÊpÒTÕTÚ ÒqÊÁÎ¡µÁÖQÎÁÑqÕqÛdÎ�ÕÔÑ�Î�ÍpÝ\Ï�£ÝNÎ\ÉTÒqÎTØ\ÉTÝNÎ¡µ\Ì Þ Ó�ÏMË�Ì¨ÊÄÉ�Ï\ÍpÝ�Õ*Ë�Ì�Ó�ÏM×�ÊpÒTÕ��¶°��A±¼ÒqÊ'¥bÏMË�ÕqÍÁÊ`ÇqÕ�Î\Ý x1, x2, x3

Ø\ÊÁÍ`ÇqÕ
ϕ ¢

ápÏMÓqÛdÎ\ÒTÕTÉqÊÁÍpÜ
ÏMÚ
¬/�}ÒTÜTâTÕTÚ´Í<áÁÓ�ÏMÒTÕTÉTÒTÌ¨Ûu�NÍ`Ç�Î\Ë�ÕqÊÁÛ·°+©3±`�

´zÏMÜTÕqÛ1Î¡µ\Ó�Ï�¥tÎ�Û�ØêÒ�ÏbÑ�Î�Ò�Ï��TÝ�ÕBáÁÓ�ÏMÒTÕTâ��
S
¥bÏ\ÛZÜTÒ��}ÝNÎ6� Þ ÎMÇ�Î�ÍpÝ�Õ¼Ø�ÑTÇqÚ4Ü}Î\ÝNÎ\ÓqÎ6� Þ Ó�ÏMË�Ì¨Ê�É�Ï\ÍpÝ�ÕË�Ì�Ó�ÏM×�ÊpÒTÕ���°��A±HÒqÊa¥bÏMË�ÕqÍuÚ
Ý-Î\Ý

x1, x2, x3
�

¸º¹W»¼¹(�p��¹½�(�b�\���p�

ßVÓ�ÏMÒTÕTÉTÒTÌ¨Ê��NÍ`Ç�Î\Ë�ÕTÚ¾°+©3±HÛdÎt×*ÒqÎ?¥bÏ Þ ÕqÍtÏMÝ�Ù�Ý\ÏMÜ¼Ð

∂ϕ

∂ν

∣∣∣∣
S

= (x2ν3 − x3ν2)Ω1 + (x3ν1 − x1ν3)Ω2 + (x1ν2 − x2ν1)Ω3.

¿ Ç�Ê`Ñ=��Ú´Ó�Ï6µ�Î\ÝNÊ\§ ��ª¥Ø�¬/�}ÒTÜTâTÕTÈ
ϕ Þ ÓqÊ`Ñ�ÍpÝ\ÏMË�ÕqÛ·Ë*Ë�Õ
Ñ�Ê

ϕ =

3∑

i=1

ϕiΩi, (6)

iHjbk?lHiHj'mHiHnporqslHiHn#tulHvHn?wÀx:y3y3z=w�{'|C}�wI~��Iwg�A|X}3}��J�g}3}:z



ÁÃÂ ��Ä�Å#ÆHÇ¡�AÅ#�_È��_És�AÊÌË���Íg�AÎ�ÉsÏ }3}:Ð

áuÑ�Ê
ϕi
Ø
i = 1, 2, 3

Ø
¢
ápÏMÓqÛdÎ\ÒTÕTÉqÊÁÍpÜTÕqÊ�¬/�}ÒTÜTâTÕTÕ Í»áÁÓ�ÏMÒTÕTÉTÒTÌ¨ÛZÕÑ�NÍ`Ç�Î\Ë�ÕTÚTÛZÕ

∂ϕ1

∂ν

∣∣∣∣
S

= x2ν3 − x3ν2 (123). (7)

Ò µ�Î6¥ÁÒ�ÏÁÉTÕqÛ Þ Ó�ÏMË�Ì¨ÊÄÉ�Ï\ÍpÝ�Õ��}Ó�ÏMË�ÒqÊpÒTÕ��Ñ°��A±VÉqÊpÓqÊ1¥ χi(Ω)
Ø
i = 1, 2, 3

�A¯<Í Þ ÎMÇqÙ¡¥C��ÚÓ°�hA±`Ø Þ ÎMÇ=�}É�Ï\ÊÁÛ

χi(Ω) = ∂
∂xi

3∑

j=1

(Ω · ∇)ϕjΩj, i = 1, 2, 3. (8)

Ô#�}ÒTÜTâTÕTÕ
χi(Ω)

Ø
i = 1, 2, 3

Ø�ÎÁÑqÒqÎ\ÓqÎÁÑqÒTÌúÎ\Ý�ÒqÎ�ÍpÕTÝNÊ`ÇqÙ�ÒqÎ
Ω1,Ω2,Ω3

Ð

χi(Ω) =
3∑

j,k=1

AijkΩjΩk, i = 1, 2, 3. (9)

Õ�Í`ÇqÕ
χi(Ω)

Ø
i = 1, 2, 3

ØzÒqÊ\¥bÏMË�ÕqÍuÚ
ÝBÎ\Ý
x1, x2, x3

Þ ÓTÕ ÇqÈaµ\ÌÄÖ Ω
Õ�¥ÔÛZÒqÎt×�ÊÁÍpÝ�ËQÏ |Ω − Ω0| < δ

Ø
áuÑ�Ê

δ
Õ

Ω0
ØZÍÁÎ�Î\Ý�ËNÊpÝNÍpÝ�ËNÊpÒTÒqÎTØ�ÒqÊpÜ}Î\ÝNÎ\ÓqÎ�Ê Þ ÎMÇ�Ît×*ÕTÝNÊ`ÇqÙ�ÒqÎ�Ê ÉTÕqÍ`Ç�ÎBÕ=ËNÊpÜTÝNÎ\Ó¼ØZÝNÎ Aijk ÒqÊs¥bÏMË�ÕqÍuÚ
ÝÎ\Ý

x1, x2, x3
�b¦HÌ�ÉTÕqÍ`ÇqÚ
Ú÷Î\ÝÖ°��A±%Ë�ÝNÎ\ÓTÌ¨Ê Þ ÓqÎ\Õ�¥ÁËNÎÁÑqÒTÌ¨Ê Þ Î Ω1,Ω2,Ω3

Õ×�}ÉTÕTÝ�Ì�ËQÏMÚVØ�ÉTÝNÎ
Aijk =

= 1
2

∂2χi
∂Ωj∂Ωk

Ø
i, j, k = 1, 2, 3

Ø�Ò�ÏbÖQÎÁÑqÕqÛ

∂2ϕi
∂xi∂xj

= Ajii, i, j = 1, 2, 3,

∂2ϕi

∂xj
2

= 2Ajij −Aijj, i 6= j, i, j = 1, 2, 3, (10)

∂
∂xk

(
∂ϕi
∂xj

+
∂ϕj

∂xi

)
= 2Akij , i 6= j 6= k 6= i, i, j, k,= 1, 2, 3.

Ø�ÊpË�Ì¨Ê�É�Ï\ÍpÝ�Õ¶ÙÁÝ�Õ
Ö´Ó�ÏMËNÊpÒqÍpÝ�Ë-ÒqÊ/¥bÏMË�ÕqÍuÚ
ÝÔÎ\Ý
Ω1,Ω2,Ω3

Ø Ï Þ Ó�ÏMË�Ì¨Ê ¢ Î\Ý x1, x2, x3
�= <Î6ÙÁÝNÎ�Û(�

Akij
Ø

i, j, k = 1, 2, 3
Ø Þ Î�ÍpÝNÎtÚ
ÒTÒTÌ��I¦HÌ�Ó�ÏM×�ÊpÒTÕTÚ´ÑTÇqÚÓ¬/�}ÒTÜTâTÕ�� ϕi Ø
Ò�Ï��
Ñ�ÊpÒTÒTÌ¨Ê�Õ�¥s°^	JÚA±`ØTÕqÛdÊpÈ.Ý*Ë�Õ
Ñ

ϕi = 1
2

3∑

j=1

(2Ajij −Aijj)x2
j +

3∑

j=1
j 6=i

Ajiixixj − εixmxn +

3∑

j=1

kijxj + λi, (11)

i = 1, 2, 3, i 6= m 6= n 6= i,áuÑ�Ê
εi + εj = −2Akij

Ø
i 6= j 6= k 6= i

Ø�Ï
kij
Õ
λi ¢ Þ ÓqÎ\Õ�¥ÁËNÎMÇqÙ�ÒTÌ¨Ê Þ Î�ÍpÝNÎtÚ
ÒTÒTÌ¨Ê��¯a¥Û°�hA±BÕ¼°^	�	�±BÍ`Ç�Ê`Ñ=�NÊpÝMØ¯ÉTÝNÎÜ¬/�}ÒTÜTâTÕTÚ
ϕ ¢

ÛZÒqÎ\átÎ\É
Ç�ÊpÒ�Ë�ÝNÎ\ÓqÎ6��ÍpÝNÊ Þ ÊpÒTÕ�Î\Ý�ÒqÎ�ÍpÕTÝNÊ`ÇqÙ�ÒqÎ
x1, x2, x3

�gÝ�ÝNÎ*ÍÁÎ\áuÇ Ï\Í1�NÊpÝNÍuÚ$Í�ÊÁÊ Þ ÓqÊ`Ñ�ÍpÝ\ÏMË\Ç�ÊpÒTÕqÊÁÛ÷Ë*Ó�Ï6µ�Î\ÝNÊ?§ h�ª¥�
 <ÎÁÑ�ÍpÝ\ÏMË�ÕTË	°^	�	�±HËH�}Ó�ÏMË�ÒqÊpÒTÕqÊ�Ø¯Ï Þ Ç Ï\ÍtÏ
Ø Þ ÎMÇ=�}ÉTÕqÛ Ý�ÓTÕ ÍÁÎ�Î\Ý�ÒqÎ6³%ÊpÒTÕTÚ´ÑTÇqÚ´Ü}Î6ÙJ¬�¬<ÕTâTÕqÊpÒTÝNÎ\ËqÐ

A1
11 +A1 +A2 = 0, 2A1

12 −A2
11 +A2

22 +A3 = 0,

2A1
13 −A3

11 +A3
33 +A4 = 0,

(12)

áuÑ�Ê
A1 = 2A2

12 −A1
22

Ø
A2 = 2A3

13 −A1
33

Ø
A3 = 2A3

23 −A2
33

Ø
A4 = 2A2

23 −A3
22.´zÏMÜTÕqÛ÷Î¡µ\Ó�Ï�¥tÎ�Û�Ø ÊÁÍ`ÇqÕ

χi(Ω)
Ø
i = 1, 2, 3

Ø ÒqÊ�¥bÏMË�ÕqÍuÚ
ÝÔÎ\Ý
x1, x2, x3

Þ ÓTÕ ÇqÈaµ�Î�Û Ω
Õ�¥�ÛZÒqÎt×�Ê�£

ÍpÝ�ËQÏ |Ω − Ω0| < δ
ØzáuÑ�Ê

δ
Õ

Ω0
ØzÍÁÎ�Î\Ý�ËNÊpÝNÍpÝ�ËNÊpÒTÒqÎTØZÒqÊpÜ}Î\ÝNÎ\ÓqÎ�Ê Þ ÎMÇ�Ît×*ÕTÝNÊ`ÇqÙ�ÒqÎ�ÊÔÑ�Ê1�qÍpÝ�Ë�ÕTÝNÊ`ÇqÙ�ÒqÎ�Ê
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ÉTÕqÍ`Ç�Î%ÕÔËNÊpÜTÝNÎ\Ó¼Ø}ÝNÎ%Í1�3­%ÊÁÍpÝ�Ë¡�}È.Ý%ápÏMÓqÛdÎ\ÒTÕTÉqÊÁÍpÜTÕqÊ¯ÛZÒqÎ\átÎ\É
Ç�ÊpÒTÌ
ϕi
Ø
i = 1, 2, 3

ØTË�Õ
Ñ Ï²°^	�	�±`Ø3�bÑ�Î\Ë\Ç�Ê�£
Ý�ËNÎ\ÓQÚ
ÈX­�ÕqÊ�áÁÓ�ÏMÒTÕTÉTÒTÌ¨Û��NÍ`Ç�Î\Ë�ÕTÚTÛÃ°�f¡±`�g¯a¥¯Ë�Ì�Ó�ÏM×�ÊpÒTÕTÚu°��A±�Í`Ç�Ê`Ñ=�NÊpÝMØ ÉTÝNÎ-Í1�3­%ÊÁÍpÝ�ËNÎ\ËQÏMÒTÕqÊ�Ý\ÏMÜTÕ
Ö
ÛZÒqÎ\átÎ\É
Ç�ÊpÒqÎ\Ë

ϕi
Ø
i = 1, 2, 3

Ø¼Ú
Ë\ÇqÚTÊpÝNÍuÚBÑ�Î�ÍpÝ\ÏMÝNÎ\ÉTÒTÌ¨ÛÜ�NÍ`Ç�Î\Ë�ÕqÊÁÛ ÒqÊ1¥bÏMË�ÕqÍpÕqÛdÎ�ÍpÝ�Õ Þ Ó�ÏMË�ÌÄÖ"É�Ï\ÍpÝNÊ1�
°��A±ÄÎ\Ý « Þ ÓTÕ´ÇqÈaµ\ÌÄÖ²¥ÁÒ�ÏÁÉqÊpÒTÕTÚ}Ö Ω

�
¿ ÕqÍpÝNÊÁÛ(�Ó°��A±`Ø�Î Þ ÕqÍpÌ�ËQÏMÈX­p�}È1Õ�¥tÛdÊpÒqÊpÒTÕqÊ¨Ë�Õ
Ö
ÓQÚ Ω(t)

Ø Þ Î�Í`Ç�Ê%�}ÉqÊpÝ\Ï»Ë�Ì�Ó�ÏM×�ÊpÒTÕ��[°�ÞA±,¥bÏ Þ Õ�³%ÊÁÛÝ\ÏMÜ¼Ð
ω̇i =

3∑

j,k=1

AijkΩjΩk, i = 1, 2, 3. (13)

ßÑà3áaá R�â�K Õ�Í`ÇqÕ
Ω̇ 6= 0

ØTÝNÎ*ËNÊpÜTÝNÎ\ÓTÌ
Ω̇
Õ

Ω
ÒqÊ<ÛdÎ\áC�}Ý\µ\Ì�Ý�Ù�Ü}ÎMÇTÇqÕTÒqÊtÏMÓTÒTÌ¨ÛZÕ¼�

ãsä�åAæ�ç�æ6èHéëê=ìAíCèHî�äAï® »ÓqÊ`Ñ Þ ÎMÇ�Ît×*ÕqÛ Î¡µ\Ó�ÏMÝ�ÒqÎ�Ê��g a�NÍpÝ�Ù�Ë�ÒqÊpÜ}Î\ÝNÎ\ÓTÌ%�"ÛdÎ�ÛdÊpÒTÝ-Ë�ÓqÊÁÛdÊpÒTÕ t1 Ë�Ì�£Þ ÎMÇqÒqÊpÒqÎÔÒqÊpÓ�ÏMËNÊpÒqÍpÝ�ËNÎ Ω̇ 6= 0
Õ

Ω̇
Ü}ÎMÇTÇqÕTÒqÊtÏMÓqÊpÒ

Ω
��ð<Ê#�
Û�ÏbÇqÚ
ÚBÎ¡µ6­�ÒqÎ�ÍpÝ�Õ¼Ø�µ6�bÑ�ÊÁÛ1ÍpÉTÕTÝ\ÏMÝ�ÙqØêÉTÝNÎ

Þ ÓTÕ t = t1
Ò�Ï Þ Ó�ÏMË\Ç�ÊpÒTÕqÊ-Î�ÍpÕ Ox1

ÍÁÎ\Ë Þ ÏbÑ Ï\ÊpÝ$Í*Ò�Ï Þ Ó�ÏMË\Ç�ÊpÒTÕqÊÁÛàËNÊpÜTÝNÎ\Ó�Ï Ω
��´xÎ\áuÑ Ï Ë4ÛdÎ�ÛdÊpÒTÝ

t1ËNÊpÜTÝNÎ\ÓTÌ
Ω
Õ

Ω̇ Þ ÓTÕqÛ(�}Ý4Ë�Õ
Ñ Ω = (Ω1, 0, 0)
Ø
Ω̇ = (Ω̇1, 0, 0)

ØZÏ´ÍpÕqÍpÝNÊÁÛ�ÏÓ�}Ó�ÏMË�ÒqÊpÒTÕ��Ö°^	t�A±aµ6�bÑ�ÊpÝ
Ë�Ì�áuÇqÚ}Ñ�ÊpÝ�Ù-Ý\ÏMÜ¼Ð

Ω̇1 = −2A1
11Ω2

1, 0 = −2A2
11Ω2

1, 0 = −2A3
11Ω2

1.
 <Î Þ ÓqÊ`Ñ Þ ÎMÇ�Ît×�ÊpÒTÕTÈ%Ø Ω1 6= 0

Ø ·Ω1 6= 0
�À <Î6ÙÁÝNÎ�Û(�

A1
11 6= 0

Ø
A2

11 = A3
11 = 0

Õ"ÍpÕqÍpÝNÊÁÛ�Ïº°^	t�A± Þ ÓTÕÒ�ÏÁÉ�ÏbÇqÙ�ÒTÌÄÖ´Ñ ÏMÒTÒTÌÄÖ
Ω|t=t1 = (Ω0

1, 0, 0)
ÕqÛdÊÁÊpÝ�Ê`ÑqÕTÒqÍpÝ�ËNÊpÒTÒqÎ�Ê�ÓqÊ1³%ÊpÒTÕqÊ

Ω1 =
Ω0

1

1 + 2Ω0
1A

1
11(t− t1)

, Ω2 = Ω3 = 0.

 <Î\Ü
ÏM×�ÊÁÛ�Ø ÉTÝNÎaÙÁÝNÎ�ÓqÊ1³%ÊpÒTÕqÊ Þ ÓqÎ\Ý�ÕTËNÎ\ÓqÊpÉTÕTÝ.ÝNÊÁÎ\ÓqÊÁÛ�Ï\Û$ß}Ê`ÇqÙNÛZátÎMÇqÙ�â�Ï.Î¨ÍÁÎÁÖ
Ó�ÏMÒqÊpÒTÕTÕ�ÕTÒTÝNÊpÒqÍpÕTË�ÒqÎ�ÍpÝ�ÕË�Õ
Ö
ÓqÊpË�ÌÄÖ Ý�Ó��_µ�Î\Ü®§ ��ª¥�
��ÇqÚ²ÙÁÝNÎ\átÎ�Í Þ ÓqÎ�ÊpÜTÝ�ÕTÓ��NÊÁÛ÷Î¡µ6ñ¼ÊÁÛ�Ø=¥bÏMÒTÕqÛ�Ï\ÊÁÛZÌ%� Þ ÎMÇ�Î�ÍpÝ�Ù�È%ØqÒ�Ï Þ Ç�Î�ÍpÜ}Î�ÍpÝ�ÙqØÎ\ÓTÝNÎ\átÎ\Ò�ÏbÇqÙ�Ò��}È?ËNÊpÜTÝNÎ\Ó��
Ω
�' .Ç�Î6­*ÏbÑqÙ Þ ÓqÎ�ÊpÜTâTÕTÕòµ6�bÑ�ÊpÝ+Ü}Î\ÒqÊpÉTÒqÎ6�1ËNÊ`ÇqÕTÉTÕTÒqÎ6�¼ØHÒqÊÑ¥bÏMË�ÕqÍuÚ_­%Ê1�Î\Ý�Ë�ÓqÊÁÛdÊpÒTÕ¼�g�ZÏ\ÍÁÍÁÛdÎ\Ý�ÓTÕqÛ÷ÇqÈaµ6�}ÈúË�Õ
Ö
ÓqÊpË¡�}È Ý�Ó��_µ\Ü��NØqÕqÛdÊpÈX­p�}È Ë�Ò�ÏÁÉ�ÏbÇqÙ�ÒTÌ%�"ÛdÎ�ÛdÊpÒTÝ-Ë�ÓqÊÁÛdÊpÒTÕ

Ü}Î\ÒqÊpÉTÒ��}È Þ Ç�Î6­*ÏbÑqÙ¯Î\ÓTÝNÎ\átÎ\Ò�ÏbÇqÙ�ÒqÎ\átÎ¯ÍÁÊpÉqÊpÒTÕTÚV�A´zÏMÜ�Ü
ÏMÜ�Ë�Ì"µ\Ó�ÏMÒTÒ�ÏMÚ*Ë�Õ
Ö
ÓqÊpËQÏMÚ%Ý�Ó��_µ\Ü
Ï»Ò�ÏbÖQÎÁÑqÕTÝNÍuÚË�Ò��}Ý�ÓTÕ Þ ÎMÇ�Î�ÍpÝ�Õ¼Ø¼ÝNÎ Þ Ç�Î6­*ÏbÑqÙ4ÊÁÊ�Î\ÓTÝNÎ\átÎ\Ò�ÏbÇqÙ�ÒqÎ\átÎ$ÍÁÊpÉqÊpÒTÕTÚ"ÒqÊ Þ ÓqÊpË�Ì%³*Ï\ÊpÝ Þ Ç�Î6­*ÏbÑqÕ Þ ÓqÎ�ÊpÜTâTÕTÕÎ¡µ6ñ¼ÊÁÛ�Ï Þ ÎMÇ�Î�ÍpÝ�Õ¼�
 <Î%ÝNÊÁÎ\ÓqÊÁÛdÊ�ß}Ê`ÇqÙNÛZátÎMÇqÙ�â�Ï
ØTÑ�ÎMÇq×*Ò�Ï*ÍÁÎÁÖ
Ó�ÏMÒTÚ
Ý�ÙNÍuÚ´ÕTÒTÝNÊpÒqÍpÕTË�ÒqÎ�ÍpÝ�Ù�Ë�Õ
Ö
ÓqÊpËNÎ6�´Ý�Ó��_µ\ÜTÕ®° Þ ÓqÎ\Õ�¥1£ËNÊ`Ñ�ÊpÒTÕqÊ Þ Ç�Î6­*ÏbÑqÕ�Î\ÓTÝNÎ\átÎ\Ò�ÏbÇqÙ�ÒqÎ\átÎ ÍÁÊpÉqÊpÒTÕTÚBÝ�Ó��_µ\ÜTÕBÒ�Ï�ÑTÇqÕTÒ��$ËNÊpÜTÝNÎ\Ó�Ï-Ë�Õ
Ö
ÓQÚI±`��´zÏMÜ"Ü
ÏMÜ"ËNÊ`ÇqÕ_£ÉTÕTÒ�Ï-Ë�Õ
Ö
ÓQÚ"Í%ÝNÊpÉqÊpÒTÕqÊÁÛ1Ë�ÓqÊÁÛdÊpÒTÕº�_µ\Ì�ËQÏ\ÊpÝ´Õ"ÍpÝ�ÓqÊÁÛZÕTÝNÍuÚ�ÜBÒ��bÇqÈ%Ø ÝNÎ Þ Ç�Î6­*ÏbÑqÙ Î\ÓTÝNÎ\átÎ\Ò�ÏbÇqÙ�ÒqÎ\átÎÍÁÊpÉqÊpÒTÕTÚ�Ý�Ó��_µ\ÜTÕ"Ñ�ÎMÇq×*Ò�Ï´ËNÎ6¥ÁÓ�Ï\ÍpÝ\ÏMÝ�Ù$Õ�ÍpÝ�ÓqÊÁÛZÕTÝ�ÙNÍuÚ Ü®µ�ÊÁÍpÜ}Î\ÒqÊpÉTÒqÎ�ÍpÝ�Õ¼ØzÝM�jÊ��êÑ�ÎMÇq×*Ò�Ï Þ ÓqÊpË¡¥tÎ6�TÝ�ÕËNÊ`ÇqÕTÉTÕTÒ�� Þ Ç�Î6­*ÏbÑqÕ Þ ÓqÎ�ÊpÜTâTÕTÕ"Î¡µ6ñ¼ÊÁÛ�Ï Þ ÎMÇ�Î�ÍpÝ�Õ¼�� <ÎMÇ=�}ÉqÊpÒTÒqÎ�Ê Þ ÓqÎ\Ý�ÕTËNÎ\ÓqÊpÉTÕqÊ�Ñ�Î\Ü
Ï�¥ÁÌ�ËQÏ\ÊpÝ4Í Þ Ó�Ï�£ËNÊ`ÑTÇqÕTËNÎ�ÍpÝ�Ù�Ç�ÊÁÛdÛZÌ��
ßÑà3áaá R½óêK ¿ �3­%ÊÁÍpÝ�Ë¡�NÊpÝ Þ Î ÜTÓ�Ï��TÒqÊ1� ÛdÊpÓqÊ$ÎÁÑqÒqÎ+Ò�Ï Þ Ó�ÏMË\Ç�ÊpÒTÕqÊ$ËNÊpÜTÝNÎ\Ó�Ï Ω

Ø Þ ÓTÕ÷Ü}Î\ÝNÎ\ÓqÎ�Û
Ω̇ = 0

�
ãsä�åAæ�ç�æ6èHéëê=ìAíCèHî�äAïb�ZÏ�¥pÇ�Ît×*ÕqÛ

Ω̇
Ò�Ï$ÍÁÎ�ÍpÝ\ÏMË\ÇqÚ
ÈX­�ÕqÊ�Ø�ÎÁÑqÒ�ÏBÕ�¥´Ü}Î\ÝNÎ\ÓTÌÄÖVØ

Ωρ
Ø Þ ÏMÓ�ÏbÇTÇ�Ê`ÇqÙ�Ò�Ï

Ω
ØTÏ¯ÑqÓ��}ápÏMÚVØ

Ωτ
ØTÎ\ÓTÝNÎ\átÎ\Ò�ÏbÇqÙ�Ò�Ï

Ω
�_¦ÄÎ6¥ÁÙNÛdÊÁÛ Ê`ÑqÕTÒTÕTÉTÒ��}ÈúÍC¬�ÊpÓ���ÕÔÕ�¥�ÊÁÊ.âqÊpÒTÝ�Ó�Ï Þ ÓqÎ\ËNÊ`Ñ�ÊÁÛ=Ç=�}É¼Ø

Þ ÏMÓ�ÏbÇTÇ�Ê`ÇqÙ�ÒTÌ%� ËNÊpÜTÝNÎ\Ó�� Ω
�b¯a¥$ÝNÎ\ÉTÜTÕ Þ ÊpÓqÊÁÍÁÊpÉqÊpÒTÕTÚ·Ç=�}É�Ï"Õ÷ÍC¬�ÊpÓTÌ Î\ÝtÇ�Ît×*ÕqÛ ÍÁÎ�ÍpÝ\ÏMË\ÇqÚ
ÈX­p�}È

Ωτ
ËNÊpÜTÝNÎ\Ó�Ï

Ω
�À¯a¥¶°^	t�A±.Í`Ç�Ê`Ñ=�NÊpÝMØ¼ÉTÝNÎ

Ω̇
Ú
Ë\ÇqÚTÊpÝNÍuÚ"ÒqÊ Þ ÓqÊpÓTÌ�Ë�ÒqÎ6�¾¬/�}ÒTÜTâTÕqÊ1�"ËNÊpÜTÝNÎ\Ó�Ï Ω

�À´xÎ\áuÑ Ï
Î\ÓTÝNÎ\átÎ\Ò�ÏbÇqÙ�Ò�ÏMÚ*ÍÁÎ�ÍpÝ\ÏMË\ÇqÚ
ÈX­*ÏMÚ

Ωτ
ËNÊpÜTÝNÎ\Ó�Ï

Ω̇
Ý\ÏMÜT×�Ê�µ6�bÑ�ÊpÝ.ÒqÊ Þ ÓqÊpÓTÌ�Ë�ÒqÎ6�H¬/�}ÒTÜTâTÕqÊ1��ËNÊpÜTÝNÎ\Ó�Ï Ω

�
¿ ÉTÕTÝ\ÏMÚ ÑTÇqÕTÒ��´ËNÊpÜTÝNÎ\Ó�Ï

Ω Þ Î�ÍpÝNÎtÚ
ÒTÒqÎ6�BÕ Þ ÓTÕ
Ñ ÏMËQÏMÚ$ÊÁÛ(�´ËNÍÁÊ�ËNÎ6¥tÛdÎt×*ÒTÌ¨Ê�Ò�Ï Þ Ó�ÏMË\Ç�ÊpÒTÕTÚVØêÍpÝ�ÓqÎ\ÕqÛÒ�Ï¯ÍC¬�ÊpÓqÊ¨ÒqÊ Þ ÓqÊpÓTÌ�Ë�ÒqÎ�Ê»Ü
Ï\ÍtÏMÝNÊ`ÇqÙ�ÒqÎ�Ê»ËNÊpÜTÝNÎ\ÓTÒqÎ�Ê Þ ÎMÇ�Ê Ωτ (Ω)
�_Ý�ÝNÎ Þ ÎMÇ�Ê Þ ÓTÕ�ÒqÊpÜ}Î\ÝNÎ\ÓqÎ�Û Ω = Ω0Ñ�ÎMÇq×*ÒqÎ ÕqÛdÊpÝ�Ù4Ò��bÇ�ÊpË¡�}ÈIÝNÎ\ÉTÜ���§ ��ª¥�� <ÎÔÇ�ÊÁÛdÛdÊ4	�Ø

Ωτ 6= 0
ØxÊÁÍ`ÇqÕ

Ω̇ 6= 0
�� <Î6ÙÁÝNÎ�Û(�

Ω̇ = 0
Ø¼ÊÁÍ`ÇqÕ

Ω = Ω0
�_Ø�ÊÁÛdÛ�Ï�Ñ�Î\Ü
Ï�¥bÏMÒ�Ï
�

iHjbk?lHiHj'mHiHnporqslHiHn#tulHvHn?wÀx:y3y3z=w�{'|C}�wI~��Iwg�A|X}3}��J�g}3}:z



ÁÃÂ ��Ä�Å#ÆHÇ¡�AÅ#�_È��_És�AÊÌË���Íg�AÎ�ÉsÏ }3}3}

ð<ÊX�
Û�ÏbÇqÚ
Ú-Î¡µ6­�ÒqÎ�ÍpÝ�ÕÔÓ�Ï\ÍÁÍ1�}×%Ñ�ÊpÒTÕ��¼Ø�µ6�bÑ�ÊÁÛ=ÍpÉTÕTÝ\ÏMÝ�ÙqØ
ÉTÝNÎ�Ò�Ï Þ Ó�ÏMË\Ç�ÊpÒTÕqÊ<Î�ÍpÕ Ox1
ÍÁÎ\Ë Þ ÏbÑ Ï\ÊpÝÍÄÒ�Ï Þ Ó�ÏMË\Ç�ÊpÒTÕqÊÁÛ"ËNÊpÜTÝNÎ\Ó�Ï Ω0

�6´xÎ\áuÑ Ï Þ ÓTÕ Ω = (Ω1, 0.0)
Õ�¥��}Ó�ÏMË�ÒqÊpÒTÕTÚÓ°^	t�A± Þ ÎMÇ=�}ÉTÕqÛ 2Ai11Ω2

1 = 0
Ø

i = 1, 2, 3
Ø�Î\Ý�Ü��bÑ Ï

Ai11 = 0
�

¿ Î�Î\Ý�ÒqÎ6³%ÊpÒTÕTÚ¾°^	t�A± Þ ÓTÕqÛ(�}Ý�Ë�Õ
Ñ
A1 +A2 = 0, 2A1

12 +A2
22 +A3 = 0, 2A1

13 +A3
33 +A4 = 0. (14)

¦HÌ�Ó�ÏM×�ÊpÒTÕTÚ¾°^	�	�±'¥bÏ Þ Õ�³p�}ÝNÍuÚ Ý\ÏMÜ¼Ð

ϕ1 = 1
2
A1x

2
2 − 1

2
A1x

2
3 − ε1x2x3 +

3∑

j=1

k1jxj + λ1,

ϕ2 = A1
12x

2
1 + 1

2
A2

22x
2
2 + 1

2
A3x

2
3 +A1

22x1x2 − ε2x1x3 +A3
22x2x3 +

3∑

j=1

k2jxj + λ2,

ϕ3 = A1
13x

2
1 + 1

2
A4x

2
2 + 1

2
A3

33x
2
3 − ε3x1x2 +A1

33x1x3 +A2
33x2x3 +

3∑

j=1

k3jxj + λ3.

 <ÎÁÑ�ÍpÝ\ÏMË�ÕTË=Ë�Ì�Ó�ÏM×�ÊpÒTÕTÚ·ÑTÇqÚ
ϕi
Ø
i = 1, 2, 3

Ø�Ë�°�f¡±`Ø Þ ÎMÇ=�}ÉTÕqÛ�ÍÁÎ�Î\Ý�ÒqÎ6³%ÊpÒTÕTÚVØ�Ü}Î\ÝNÎ\ÓTÌ¨Ê Ñ�ÎMÇq×*ÒTÌË�Ì Þ ÎMÇqÒTÚ
Ý�ÙNÍuÚ4Ò�Ï�áÁÓ�ÏMÒTÕTâqÊ Þ ÎMÇ�Î�ÍpÝ�Õ¼Ð

k11ν1 + [A1x2 + (1− ε1)x3 + k12]ν2 + [−(1 + ε1)x2 −A1x3 + k13]ν3

∣∣∣∣
S

= 0,

[2A1
12x1 +A1

22x2 − (1 + ε2)x3 + k21]ν1 +

( 3∑

i=1

Ai22xi + k22

)
ν2+

+[(1− ε2)x1 +A3
22x2 +A3x3 + k23]ν3

∣∣∣∣
S

= 0, (15)

[2A1
13x1 + (1 − ε3)x2 +A1

33x3 + k31]ν1 + [−(1 + ε3)x1 +A4x2 +A2
32x3 + k32]ν2+

+

( 3∑

i=1

Ai33xi + k33

)
ν3

∣∣∣∣
S

= 0.

 <Î\Ü
ÏM×�ÊÁÛ�ØQÉTÝNÎ
k11 = 0

�M��Ê1�qÍpÝ�Ë�ÕTÝNÊ`ÇqÙ�ÒqÎTØ}ÊÁÍ`ÇqÕ
Ω = (1, 0, 0)

Ø}ÝNÎ.ÑqË�ÕT×�ÊpÒTÕqÊ6É�Ï\ÍpÝ�ÕTâ�×*Õ
ÑqÜ}Î�ÍpÝ�Õ
µ6�bÑ�ÊpÝ�Î Þ ÕqÍpÌ�ËQÏMÝ�ÙNÍuÚ$Í`Ç�Ê`Ñ=�}ÈX­%Ê1� ÍpÕqÍpÝNÊÁÛdÎ6�Ñ�}Ó�ÏMË�ÒqÊpÒTÕ��¼Ð

ẋ1 = k11, ẋ2 = A1x2 + (1− ε2)x3 + k12, ẋ3 = −(1 + ε1)x2 −A1x3 + k13,

áuÑ�Ê
x1, x2, x3 ¢

Ü}Î�Î\ÓNÑqÕTÒ�ÏMÝ�ÌàÓ�Ï\ÍÁÍÁÛ�ÏMÝ�ÓTÕTËQÏ\ÊÁÛdÎ6�$É�Ï\ÍpÝ�ÕTâTÌ��
 <ÊpÓTËNÎ�Ê��}Ó�ÏMË�ÒqÊpÒTÕqÊ<ÕTÒTÝNÊpáÁÓTÕTÓ��NÊpÝNÍuÚ4ÒqÊ1¥bÏMË�ÕqÍpÕqÛdÎ�Î\Ý*ÑqË¡�QÖ-ÑqÓ��}áÁÕ
ÖVØTÕ ÊpátÎ*ÓqÊ1³%ÊpÒTÕqÊ<ÕqÛdÊÁÊpÝ�Ë�Õ
Ñ

x1 = k11t+x0
1

ØQáuÑ�Ê
x0

1 ¢
Ü}Î�Î\ÓNÑqÕTÒ�ÏMÝ\Ï

x1
Ó�Ï\ÍÁÍÁÛ�ÏMÝ�ÓTÕTËQÏ\ÊÁÛdÎ6�´É�Ï\ÍpÝ�ÕTâTÌ1×*Õ
ÑqÜ}Î�ÍpÝ�Õ Þ ÓTÕ t = 0

�3Õ�Í`ÇqÕ
Þ ÎMÇ�Î�ÍpÝ�Ù\¥bÏ\ÛZÜTÒ��}Ý\Ï
ØqÝNÎ x1

Ñ�ÎMÇq×*Ò�ÏHµ\Ì�Ý�Ù�Î\áÁÓ�ÏMÒTÕTÉqÊpÒTÒqÎ6�¼Ø�ÉTÝNÎ*ËNÎ6¥tÛdÎt×*ÒqÎ�ÝNÎMÇqÙ�Ü}Î Þ ÓTÕ k11 = 0
�

ßÑà3áaá RsôVK Õ�Í`ÇqÕ�áÁÓ�ÏMÒTÕTâ�Ï Þ ÎMÇ�Î�ÍpÝ�Õ�ÒqÊ�ÕqÛdÊÁÊpÝ¨ÑqË¡�
ÛdÊpÓTÒTÌÄÖ#�}É�Ï\ÍpÝ�Ü}Î\ËqØbÒ�Ï�Ü}Î\ÝNÎ\ÓTÌÄÖ ν1 ≡ ν2 ≡ 0
Ø

ÝNÎ*ËNÍuÚ
Ü
ÏMÚ´ÇqÕTÒTÕTÚ Þ ÊpÓqÊÁÍÁÊpÉqÊpÒTÕTÚ4ÊÁÊ<Í Þ Ç�Î�ÍpÜ}Î�ÍpÝ�Ù�È x1 = const
µ6�bÑ�ÊpÝ�Î Þ ÕqÍpÌ�ËQÏMÝ�ÙNÍuÚÓ�}Ó�ÏMË�ÒqÊpÒTÕqÊÁÛ

(1 + ε1)x2
2 + (1− ε1)x2

3 + 2A1x2x3 − 2k13x2 + 2k12x3 = ζ, (16)

áuÑ�Ê
ζ ¢ Þ ÏMÓ�Ï\ÛdÊpÝ�Ó¼Ø Þ ÓTÕTÒTÕqÛ�ÏMÈX­�Õ��$Î Þ ÓqÊ`Ñ�Ê`Ç�ÊpÒTÒqÎ�Ê�¥ÁÒ�ÏÁÉqÊpÒTÕqÊ�Ò�Ï%Ü
ÏM×%Ñ�Î6� ÇqÕTÒTÕTÕ Þ ÊpÓqÊÁÍÁÊpÉqÊpÒTÕTÚV�

iHjbk?lHiHj'mHiHnporqslHiHn#tulHvHn?w�x:y3y3z=wg{'|C}�wI~��Iw��A|R}3}��J�g}3}:z



}3}:õ �%�J�s�=�b�=�6�:�_�A�

ãsä�åAæ�ç�æ6èHéëê=ìAíCèHî�äAï# »ÓTÕ
Ñ ÏMËQÏMÚ Þ ÏMÓ�Ï\ÛdÊpÝ�Ó�� ζ
Ñ�Î Þ �NÍpÝ�ÕqÛZÌ¨Êu¥ÁÒ�ÏÁÉqÊpÒTÕTÚVØ Þ Î\ÜTÓqÎ�ÊÁÛ Þ Ç�Î�ÍpÜ}Î�ÍpÝ�Ù

x1 = const
ÍÁÊÁÛdÊ1�qÍpÝ�ËNÎ�Û

D
ØzÇqÕTÒTÕTÕ Ü}Î\ÝNÎ\ÓqÎ\átÎ Î Þ ÕqÍpÌ�ËQÏMÈ.ÝNÍuÚu�}Ó�ÏMË�ÒqÊpÒTÕqÊÁÛ¨°^	JhA±`��¦ÄÊpÜTÝNÎ\Ó ÒqÎ\ÓqÛ�Ï�£

ÇqÕ ÜÔÇqÕTÒTÕTÚTÛ�ÙÁÝNÎ\átÎ�ÍÁÊÁÛdÊ1�qÍpÝ�ËQÏ?ö�Ø}Ç�Êp×%Ï�­�Õ��4Ë Þ Ç�Î�ÍpÜ}Î�ÍpÝ�Õ x1 = const
Ø
ÕqÛdÊÁÊpÝ�Ü}Î�Û Þ Î\ÒqÊpÒTÝ�Ì

n1 = 0, n2 = (1 + ε1)x2 +A1x3 − k13, n3 = (1− ε1)x3 +A1x2 + k12.

Ø<ÕTÒTÕTÈ Þ ÊpÓqÊÁÍÁÊpÉqÊpÒTÕTÚ Þ Ç�Î�ÍpÜ}Î�ÍpÝ�Õ x1 = const
ÍÄáÁÓ�ÏMÒTÕTâqÊ1� Þ ÎMÇ�Î�ÍpÝ�Õ-Î¡µ�Î6¥ÁÒ�ÏÁÉTÕqÛ�ÉqÊpÓqÊ1¥ l ØNÏ.Ü
Ï\ÍtÏMÝNÊ`ÇqÙ6£ÒTÌ%� Ü´ÒqÊ1� ËNÊpÜTÝNÎ\Ó

¢
ÉqÊpÓqÊ1¥

τ
�T�<Î�Û Þ Î\ÒqÊpÒTÝ�ÌàËNÊpÜTÝNÎ\Ó�Ï τ Ò�Ï��
Ñ�ÊÁÛ Õ�¥ Þ ÊpÓTËNÎ\átÎ�Ë�Ì�Ó�ÏM×�ÊpÒTÕTÚ¾°^	t�A±`Ð

τ1 = 0, τ2 = A1x2 + (1− ε1)x3 + k12, τ3 = −(1 + ε1)x2 −A1x3 + k13.

¦àÜ
ÏM×%Ñ�Î6�+ÝNÎ\ÉTÜ}Ê%ÇqÕTÒTÕTÕ
l
ËNÊpÜTÝNÎ\ÓTÌ�ö Õ

τ
ÍpË�Ú_¥bÏMÒTÌ�ÍÁÎ�Î\Ý�ÒqÎ6³%ÊpÒTÕqÊÁÛÛö · τ = 0

� ¿ Ç�Ê`Ñ�Î\ËQÏMÝNÊ`ÇqÙ�ÒqÎTØ
l Þ ÓTÕTÒ�ÏbÑTÇ�Êp×*ÕTÝÔÍÁÊÁÛdÊ1�qÍpÝ�Ë¡� D Õ
ÇqÕ Ú
Ë\ÇqÚTÊpÝNÍuÚ4ÊpátÎ�Î\áÁÕ=µNÏMÈX­%Ê1�¼� Ò ÑqÒ�ÏMÜ}Î�ÍÁÊÁÛdÊ1�qÍpÝ�ËNÎ

D
Î\áÁÕ=µNÏMÈX­%Ê1�

ÒqÊ<ÕqÛdÊÁÊpÝMØqÕÔÇqÕTÒTÕTÚ
l
µ6�bÑ�ÊpÝ�Î Þ ÕqÍpÌ�ËQÏMÝ�ÙNÍuÚÓ�}Ó�ÏMË�ÒqÊpÒTÕqÊÁÛÛ°^	JhA±`��Ø�ÊÁÛdÛ�Ï�Ñ�Î\Ü
Ï�¥bÏMÒ�Ï
�

 »ÓqÊ`Ñ Þ ÎMÇ�Ît×*ÕqÛ�Ø�ÉTÝNÎ[�NÍ`Ç�Î\Ë�ÕTÚ=Ç�ÊÁÛdÛZÌ �$Ë�Ì Þ ÎMÇqÒqÊpÒTÌ���¦IÍ`Ç=�}É�Ï\Ê÷¥bÏ\ÛZÜTÒ��}ÝNÎ6� Þ ÎMÇ�Î�ÍpÝ�Õu�}Ó�ÏMË6£ÒqÊpÒTÕTÚ·°^	JhA±�Î Þ ÕqÍpÌ�ËQÏMÈ.Ý ÍÁÊÁÛdÊ1�qÍpÝ�ËNÎºÙpÇTÇqÕ Þ ÍÁÎ\Ëq��ð<Ê÷�
Û�ÏbÇqÚ
Ú Î¡µ6­�ÒqÎ�ÍpÝ�Õ¼Ø�µ6�bÑ�ÊÁÛ ÍpÉTÕTÝ\ÏMÝ�ÙqØ�ÉTÝNÎ"Î�ÍpÙ
Ox1

Þ ÓqÎÁÖQÎÁÑqÕTÝ-ÉqÊpÓqÊ1¥¯Õ
ÖÔâqÊpÒTÝ�ÓTÌ�Ø Ï Ox2
Õ
Ox3

ÍÁÎ\Ë Þ ÏbÑ ÏMÈ.Ý�Í<áuÇ ÏMË�ÒTÌ¨ÛZÕ$Ò�Ï Þ Ó�ÏMË\Ç�ÊpÒTÕTÚTÛZÕ¼�g´xÎ\áuÑ Ï
A1 = k12 = k13 = 0

Õ¾°^	JhA± Þ ÓTÕqÛdÊpÝ�Ë�Õ
Ñ (1 + ε1)x2
2 + (1− ε1)x2

3 = ζ
�

ßVÓ�ÏMÒTÕTâ�� Þ ÎMÇ�Î�ÍpÝ�ÕÑ¥bÏbÑ ÏbÑqÕqÛ·ÍÁÎ�Î\Ý�ÒqÎ6³%ÊpÒTÕTÚTÛZÕ
x2 = a(x1) cosα, x3 = ba(x1) sinα, (17)

áuÑ�Ê
b =

√
(1 + ε1)/(1− ε1)

Ø
a(x1) ¢

Ü��NÍÁÎ\ÉTÒqÎ�£�áuÇ ÏbÑqÜ
ÏMÚ·ÒqÊÁÎ\Ý�ÓTÕTâ�ÏMÝNÊ`ÇqÙ�Ò�ÏMÚ×¬/�}ÒTÜTâTÕTÚVØzË"Î¡µ6­%ÊÁÛ
Í`Ç=�}É�Ï\Ê�ÛZÒqÎ\átÎ6¥ÁÒ�ÏÁÉTÒ�ÏMÚVØ

0 6 α 6 2π
�q�<Î�Û Þ Î\ÒqÊpÒTÝ�ÌàËNÊpÜTÝNÎ\Ó�Ï%ÒqÎ\ÓqÛ�ÏbÇqÕ4ÕqÛdÊpÈ.Ý�Ë�Õ
Ñ

ν1 = −ba(x1)a′(x1), ν2 = ba(x1) cosα, ν3 = a(x1) sinα,

áuÑ�Ê
a′(x1) ¢ Þ ÓqÎ\Õ�¥ÁËNÎÁÑqÒ�ÏMÚ$Î\Ý a(x1)

�
 <ÎÁÑ�ÍpÝ\ÏMË�ÕTË-Ë�Ì�Ó�ÏM×�ÊpÒTÕTÚ´ÑTÇqÚ

ν1, ν2, ν3
Ë%ÑqËNÊ Þ Î�Í`Ç�Ê`ÑqÒTÕqÊ#¬�Î\ÓqÛ(�bÇqÌ½°^	t�A±`Ø Þ ÎMÇ=�}ÉTÕqÛ

B sin2 α = B0 +B1 sinα+B2 cosα+B3 sin 2α,

(18)
C cos2 α = C0 + C1 sinα+ C2 cosα+ C3 sin 2α,áuÑ�Ê

B = b(A2
22 −A3)a(x1), B0 = b[A2

22a(x1)− (2A1
12x1 + k21)a′(x1)],

B1 = b2(1 + ε2)a(x1)a′(x1) + (1− ε2)x1 + k23,

B2 = b[−A1
22a(x1)a′(x1) +A1

22x1 + k22], B3 = 1
2
A3

22(b2 + 1)a(x1),

C = b(A3
33 −A4)a(x1), C0 = b[A3

33a(x1)− (2A1
13x1 + k31)a′(x1)],

C1 = −A1
33b

2a(x1)a′(x1) +A1
33x1 + k33,

C2 = −b[(1− ε3)a(x1)a′(x1) + (1 + ε3)x1 + k32],

C3 = 1
2
A2

33(b2 + 1)a(x1).

�ZÏMËNÊpÒqÍpÝ�ËQÏ²°^	t�A±zÑ�ÎMÇq×*ÒTÌ÷Ë�Ì Þ ÎMÇqÒTÚ
Ý�ÙNÍuÚÔÝNÎt×%Ñ�ÊÁÍpÝ�ËNÊpÒTÒqÎ Þ ÓTÕ-ËNÍÁÊ`Ö*Ñ�Î Þ �NÍpÝ�ÕqÛZÌÄÖ\¥ÁÒ�ÏÁÉqÊpÒTÕTÚ}Ö x1
Õ
α
�

��ÇqÚ\ÙÁÝNÎ\átÎ¯ÒqÊÁÎ¡µÁÖQÎÁÑqÕqÛdÎ%Õ�Ñ�Î�ÍpÝ\ÏMÝNÎ\ÉTÒqÎTØ
ÉTÝNÎ¡µ\ÌÖ¬/�}ÒTÜTâTÕTÚ
a(x1)

µ\ÌÄÇ Ï�ÓqÊ1³%ÊpÒTÕqÊÁÛ+ÍpÕqÍpÝNÊÁÛZÌÖ�}Ó�ÏMË�ÒqÊ�£
ÒTÕ��

B(x1, a) = 0, C(x1, a) = 0, Bi(x1, a) = 0, Ci(x1, a) = 0, i = 0, 1, 2, 3,

iHjbk?lHiHj'mHiHnporqslHiHn#tulHvHn?wÀx:y3y3z=w�{'|C}�wI~��Iwg�A|X}3}��J�g}3}:z



ÁÃÂ ��Ä�Å#ÆHÇ¡�AÅ#�_È��_És�AÊÌË���Íg�AÎ�ÉsÏ }3}3ø

Ü}Î\ÝNÎ\ÓTÌ¨Ê�Ë�Ó�Ï�¥ÁËNÊpÓTÒ��}ÝNÎ�Û Ë�Õ
Ñ�Ê<Ë�Ì�áuÇqÚ}ÑqÚ
Ý�Ý\ÏMÜ¼Ð

A3
22a(x1) = 0, A2

33a(x1) = 0, (19)

b(A2
22 −A3)a(x1) = 0, b(A3

33 −A4)a(x1) = 0, (20)

A2
22a(x1)− (2A1

12x1 + k21)a′(x1) = 0, (21)

b2(1 + ε2)a(x1)a′(x1) + (1− ε2)x1 + k23 = 0, (22)

−A1
22a(x1)a′(x1) +A1

22x1 + k22 = 0, (23)

A3
33a(x1)− (2A1

13x1 + k31)a′(x1) = 0, (24)

−A1
33b

2a(x1)a′(x1) +A1
33x1 + k33 = 0, (25)

−(1− ε3)a(x1)a′(x1)− (1 + ε3)x1 + k32 = 0. (26)
ßÑà3áaá RÃù¼K%ú ÝNÎ¡µ\Ì¨�}Ó�ÏMË�ÒqÊpÒTÕTÚÛ°^	JÞA±�û�°��¡hA±Hµ\ÌÄÇqÕ÷ÍÁÎ\ËNÛdÊÁÍpÝ�ÒTÌ Õ ÕqÛdÊ`ÇqÕ·ÓqÊ1³%ÊpÒTÕqÊ�Ø�ÒqÊ´Ó�ÏMË�ÒqÎ�Ê

ÝNÎt×%Ñ�ÊÁÍpÝ�ËNÊpÒTÒqÎ�Ò��bÇqÈ%ØTÒqÊÁÎ¡µÁÖQÎÁÑqÕqÛdÎ�ÕÔÑ�Î�ÍpÝ\ÏMÝNÎ\ÉTÒqÎ�Ë�Ì Þ ÎMÇqÒqÊpÒTÕTÚÓ�NÍ`Ç�Î\Ë�Õ��

1) 1 + ε2 6= 0, 1− ε3 6= 0, A3
22 = A2

33 = 0, A1
ii = kii = A1

1i +Aiii = 0,

i = 2, 3;

2) b2(1 + ε2)(1 + ε3) = (1− ε2)(1− ε3), b2k32(1 + ε2) = −k23(1− ε3),

A1
12 = k21 = A1

13 = k31 = 0.
ãsä�åAæ�ç�æ6èHéëê=ìAíCèHî�äAï_ <Î\Ü
ÏM×�ÊÁÛ�Ø}ÉTÝNÎ

1 + ε2 6= 0, 1− ε3 6= 0
�\��Ê1�qÍpÝ�Ë�ÕTÝNÊ`ÇqÙ�ÒqÎTØ
ÊÁÍ`ÇqÕ

1 + ε2 =
= 0

Ø
ÝNÎ�ÑTÇqÚÔÝNÎt×%Ñ�ÊÁÍpÝ�ËNÊpÒTÒqÎ\átÎ�Ë�Ì Þ ÎMÇqÒqÊpÒTÕTÚ®°����A±�ÒqÊÁÎ¡µÁÖQÎÁÑqÕqÛdÎ�Ó�ÏMËNÊpÒqÍpÝ�ËNÎ 1− ε2 = 0
�� <ÎMÇ=�}ÉqÊpÒTÒqÎ�Ê

Þ ÓqÎ\Ý�ÕTËNÎ\ÓqÊpÉTÕqÊ Ñ�Î\Ü
Ï�¥ÁÌ�ËQÏ\ÊpÝ=Í Þ Ó�ÏMËNÊ`ÑTÇqÕTËNÎ�ÍpÝ�ÙÌ�}Ý�ËNÊpÓQ×%Ñ�ÊpÒTÕTÚV�'¯<Í Þ ÎMÇqÙ¡¥C��ÚÛ°��¡hA±`ØZÑ�Î\Ü
ÏM×�ÊÁÛ�Ë�ÝNÎ\ÓqÎ�Ê
ÒqÊpÓ�ÏMËNÊpÒqÍpÝ�ËNÎT�

 <ÎÁÑ�ÍpÝ\ÏMË�ÕTË�Ë�Ì�Ó�ÏM×�ÊpÒTÕqÊ-ÑTÇqÚ
a(x1)a′(x1)

ØxÒ�Ï��
Ñ�ÊpÒTÒqÎ�Ê-Õ�¥	°��¡hA±`ØzËÌ°����A±`Ø Þ ÎMÇ=�}ÉTÕqÛýÝNÎt×%Ñ�ÊÁÍpÝ�ËNÎ
2A1

22x1 − A1
22k32 + k22(1 − ε3) ≡ 0

ØzÑTÇqÚ=Ë�Ì Þ ÎMÇqÒqÊpÒTÕTÚ Ü}Î\ÝNÎ\ÓqÎ\átÎ"ÒqÊÁÎ¡µÁÖQÎÁÑqÕqÛdÎ A1
22 = k22 = 0

�
ü Ò�ÏbÇ�Î\áÁÕTÉTÒqÎTØqÕqÍ Þ ÎMÇqÙ¡¥C��Ú¾°����A±HÕ®°����A±`Ø
Ñ�Î\Ü
ÏM×�ÊÁÛ�Ø�ÉTÝNÎ A1

33 = k33 = 0
�

�ZÏMËNÊpÒqÍpÝ�ËQÏ¾°^	JÞA±.Õ�°��¡ÚA±6Ñ ÏMÈ.Ý
A3

22 = A2
33 = A2

22 − A3 = A3
33 − A4 = 0

� ¿ Ü
Ç ÏbÑqÌ�ËQÏMÚ
A2

22 −
− A3 = 0

Õ
A3

33 − A4 = 0
ÍÁÎ�Î\Ý�ËNÊpÝNÍpÝ�ËNÊpÒTÒqÎÔÍÁÎ*Ë�ÝNÎ\ÓTÌ¨Û·Õ Ý�ÓqÊpÝ�Ù�ÕqÛ·Ë�Ì�Ó�ÏM×�ÊpÒTÕTÚTÛZÕu°^	1©3±`ØqÒ�ÏbÖQÎÁÑqÕqÛ

A1
12 +A2

22 = A1
13 +A3

33 = 0
�

ð<ÊÁÎ¡µÁÖQÎÁÑqÕqÛdÎ�ÍpÝ�Ù��NÍ`Ç�Î\Ë�Õ��Ô	�± Ñ�Î\Ü
Ï�¥bÏMÒ�Ï
�6 »ÓTÕ�Ë�Ì Þ ÎMÇqÒqÊpÒTÕTÕpÙÁÝ�Õ
Ö#�NÍ`Ç�Î\Ë�Õ���Ó�ÏMËNÊpÒqÍpÝ�ËQÏp°^	JÞA±`Ø_°��¡ÚA±`Ø
°����A±`Ø�°����A±ÄÍ Þ Ó�ÏMËNÊ`ÑTÇqÕTË�ÌýÑTÇqÚ-ÇqÈaµ�Î6�Ñ¬/�}ÒTÜTâTÕTÕ a(x1)

�
¯a¥��}Ó�ÏMË�ÒqÊpÒTÕTÚ®°����A±ÄÍ`Ç�Ê`Ñ=�NÊpÝ

b2a2(x1) = −κ1x
2
1 − κ2x1 + β, (27)

áuÑ�Ê
κ1 = (1− ε2)/(1 + ε2)

Ø
κ2 = −2k23/(1 + ε2)

Ø
β ¢ Þ ÓqÎ\Õ�¥ÁËNÎMÇqÙ�Ò�ÏMÚ Þ Î�ÍpÝNÎtÚ
ÒTÒ�ÏMÚV� <ÎÁÑ�ÍpÝ\ÏMË\ÇqÚ
ÚÌ°��Af¡±HËÑ°��¡hA±`Ø�°��
	�±`Ø�°���©3±HÕ²�}ÉTÕTÝ�Ì�ËQÏMÚ

A1
12 = −A2

22

Ø
A1

13 = −A3
33

Ø Þ ÎMÇ=�}É�Ï\ÊÁÛ
(

1− ε2

1 + ε2
− b2 1 + ε3

1− ε3

)
x1 +

k23

1 + ε2
+ b2

k32

1− ε3
= 0,

3A1
12(1− ε2)x2

1 + [4k23A
1
12 + k21(1− ε2)]x1 −A1

12β(1 + ε2) + k21k23 = 0,

3A1
13(1− ε2)x2

1 + [4k23A
1
13 + k31(1− ε2)]x1 −A1

13β(1 + ε2) + k31k23 = 0.
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}3}:ý �%�J�s�=�b�=�6�:�_�A�

´xÎt×%Ñ�ÊÁÍpÝ�ËNÊpÒTÒqÎ�Ê%Ë�Ì Þ ÎMÇqÒqÊpÒTÕqÊ�ÙÁÝ�Õ
Ö´Ó�ÏMËNÊpÒqÍpÝ�ËqØ�Ú
Ë\ÇqÚ
ÈX­%ÊÁÊÁÍuÚ´ÒqÊÁÎ¡µÁÖQÎÁÑqÕqÛZÌ¨Û÷Õ´Ñ�Î�ÍpÝ\ÏMÝNÎ\ÉTÒTÌ¨Û��NÍ`Ç�Î�£Ë�ÕqÊÁÛ$ÍÁÎ\ËNÛdÊÁÍpÝ�ÒqÎ�ÍpÝ�ÕH�}Ó�ÏMË�ÒqÊpÒTÕ��Ó°��
	�±`Ø_°����A±`Ø_°���©3±`Ø_°��¡hA±`ØbËNÎ6¥tÛdÎt×*ÒqÎ Þ ÓTÕ b2a2(x1) 6≡ 0
Ë.ÝNÎ�Û4Õ¯ÝNÎMÇqÙ�Ü}Î

ÝNÎ�Û Í`Ç=�}É�Ï\Ê�ØqÊÁÍ`ÇqÕ
b2(1 + ε2)(1 + ε3) = (1− ε2)(1− ε3), b2k32(1 + ε2) = −k23(1− ε3),

A1
12 = k21 = A1

13 = k31 = 0.
Ø�ÊÁÛdÛ�Ï%Ñ�Î\Ü
Ï�¥bÏMÒ�Ï
�

Ô#�}ÒTÜTâTÕTÚ
a(x1)

ÛdÎt×�ÊpÝ�µ\Ì�Ý�Ù<ÛZÒqÎ\átÎ6¥ÁÒ�ÏÁÉTÒqÎ6�¼Ø�ÒqÎ6ÝNÎ\ÉqÊpÜ%ËNÊpÝ�Ë\Ç�ÊpÒTÕTÚ�ÒqÊ�ÕqÛdÊÁÊpÝM�b��Ê1�qÍpÝ�Ë�ÕTÝNÊ`ÇqÙ�ÒqÎTØ
Ü
ÏM×%Ñ ÏMÚ*ËNÊpÝ�Ë�Ù/ÙÁÝNÎ6�?¬/�}ÒTÜTâTÕTÕ�Î Þ ÕqÍpÌ�ËQÏ\ÊpÝNÍuÚH�}Ó�ÏMË�ÒqÊpÒTÕqÊÁÛ×°��Af¡±`�¡ �ÏMÓ�Ï\ÛdÊpÝ�ÓTÌ b, κ1, κ2

Ë�Ì�Ó�ÏM×%ÏMÈ.ÝNÍuÚ
ÉqÊpÓqÊ1¥

εi
Ø
i = 1, 2, 3

ØêÕ
k23

ÕBÎÁÑqÕTÒ�ÏMÜ}Î\Ë�ÌúÑTÇqÚ4ËNÍÁÊ`Ö4ËNÊpÝ�ËNÊ1�¼�gÕ�Í`ÇqÕ
a(x1)

ÕqÛdÊÁÊpÝ-ÝNÎ\ÉTÜ�� ËNÊpÝ�Ë\Ç�ÊpÒTÕTÚVØ
ÝNÎ*Ë�ÌÄÖQÎÁÑqÚ_­�ÕqÊ�Õ�¥<ÒqÊÁÊ<ËNÊpÝ�Ë�ÕÑµ6�bÑ=�}Ý*ÕqÛdÊpÝ�Ù�ÎÁÑqÕTÒ�ÏMÜ}Î\Ë�Ì¨Êp¥ÁÒ�ÏÁÉqÊpÒTÕTÚ Þ ÏMÓ�Ï\ÛdÊpÝ�Ó�Ï β Õ ÍÁÎMÇqÙ�È.ÝNÍuÚV�¯a¥�ÍÁÎ�Î\Ý�ÒqÎ6³%ÊpÒTÕ���°^	�f¡±�Í`Ç�Ê`Ñ=�NÊpÝ

b2x2
2 + x2

3 = b2a2(x1)
�� <ÎÁÑ�ÍpÝ\ÏMË\ÇqÚ
ÚýÍpÈÄÑ Ïò°��Af¡±`ØÄÒ�ÏbÖQÎÁÑqÕqÛ

�}Ó�ÏMË�ÒqÊpÒTÕqÊ�áÁÓ�ÏMÒTÕTâTÌ Þ ÎMÇ�Î�ÍpÝ�Õ
(x1 + d)2/b21 + x2

2/b
2
2 + x2

3 = β1,

áuÑ�Ê
d =

k23

1− ε2
, b21 =

1 + ε2

1− ε2
, b22 =

1− ε1

1 + ε1
, β1 = β − k2

23

1− ε2
2

.

 <Î�ÍpÝNÎtÚ
ÒTÒTÌ¨Ê
d, b1, b2
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Þ ÎÁÑ�Î¡µ\ÒTÌÄÖ4ÍÁÎ�Î�ÍpÒTÌÄÖ´Ü}Î\ÒTâqÊpÒTÝ�ÓTÕTÉqÊÁÍpÜTÕ
ÖÑÙpÇTÇqÕ Þ ÍÁÎ\Õ
Ñ�Î\Ëq�
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ν2 ≡ ν3 ≡ 0 BDC .$"
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x1 = ha
�
x1 = hb
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ha

�
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Si
,
i = 1, 2, . . .
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0-"5.$"5��=>6

ν2 ≡ ν3 ≡ 0 B�[ ��07�'PQ�!"*1\.'�$0-"*1I;-�(�5)&.$0-�
x1 ≡ hi

,�%S�!�
hi

,
i = 1, 2, . . .
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x1 = ha
�
x1 = hb
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1 + ε2 6= 0

,
1− ε3 6= 0

,
A1

22 = A1
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Si
,
i = 1, 2, . . .

,745=H��"$#(�73�K�.5)S3
�(�$45���()&.$4*�

ν2 ≡ ν3 ≡ 0
�
x1 = hi

,���"$#(;-�(�$��1

[2A1
12hi + k21 − (1 + ε2)x3]ν1

∣∣∣∣
Si

= 0,

[2A1
13hi + k31 + (1− ε3)x2]ν1

∣∣∣∣
Si

= 0.

` �$0\07�$0
ν1 6= 0

�(�
Si

,
2A1

12hi + k21
�

2A1
13hi + k31 T 0-"5�()&.'�$��.$=9,@.$"

1 + ε2 = 0
�

1 − ε3 = 0
,
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1 + ε2 6= 0

�
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mbà U�n à3á RêKpo í<êNquèHî6ésr�t�ä6é²èHéëê=ä¶íÓä*t*u=ä*vwuIé�x=ä*t6î*qRyzu=ä*vuè�ä*{3åAä*v|q!}�éCé1è ç�æ$}/å�uN~Aè�~���x=ä*�

ê=ä�íCè�ì7�^�IéëêNq=åAä�}Üç�æ-x=ä�êNuIé�uNuN~���qNt6éëæJê=ì�u=ä*vXuIé1í�yzq!}/æ¡é�}/ä*vZyzqNt�åAä�íCè�ì�����íCä6î6ésr���æ-�9�Hé�v²ä*t*u=ä&rgä*t*�
u=ä6é\î*q��*r�éCî�ä6éFt6î*qRyÜé�uNqIé��9x-r�qN{_é�}¨î6é1åAè�ä&r

Ω
q¾î6é1åAè�ä&r�~(�ëê=ä6î�ä*v¾íCåAä&rgä�íCè�q®ä*��ä�ê=ä*{3å�q

ω
}/ä-��~Aè

x-r�qNuNq!}/æ6è�ìsêN�9�*��é�ç*u=æ-{_é�uNq!�kq_çF}au=ä5yÜé1íCèHî |Ω − Ω0| < δ1
q |ω − ω0| < δ2

�U��t6é
Ω0

q
ω0 �
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uIé1åAä�è�ä&r���é�î6é1åAè�ä&r��>��æ
δ1

q
δ2 � x-rgä*q_ç6î�ä�ê=ì�uN��é/}/æJêN��é�x=ä�ê=ä5yzq=èHéëê=ì�uN��é�{!q=í<ê=æ*�%è�äM��r3æ-uNqN�=æ

x=ä�ê=ä�íCè�qA�IîCê!�Ié1è�í��]��êAêNqNx=íCä*qNt�ä�}�q3êNq	íCä�íCè�ä*q=è�q_çZt6î*~-�]x=ä*t�ä*�*uN�@�¶íCä�ä�í'uN�@�[åAä*uN�Ié�u=è�r�qN{_é1íCå�q��
��êAêNqNx=íCä*qNt�ä6îAï

��ÇqÚ�Ñ�Î\Ü
Ï�¥bÏMÝNÊ`ÇqÙNÍpÝ�ËQÏ�ÛdÎt×*ÒqÎ�ÕqÍ Þ ÎMÇqÙ¡¥tÎ\ËQÏMÝ�Ù Þ ÓTÕTËNÊ`Ñ�ÊpÒTÒTÌ¨Ê<Ë�Ì%³%Ê6Ó�Ï\ÍÁÍ1�}×%Ñ�ÊpÒTÕTÚVØ
Õ�¥tÛdÊpÒTÕTË%Õ
ÖÍ`Ç�Ê`Ñ=�}ÈX­�ÕqÛ Î¡µ\Ó�Ï�¥tÎ�Û��d�.ÉTÕTÝ�Ì�ËQÏMÚVØZÉTÝNÎ Þ ÎMÇ�Î�ÍpÝ�Ù Þ ÎÁÑqË�ÕT×*Ò�Ï
ØdË�Ì�Ó�ÏM×�ÊpÒTÕTÚÛ°+©3±`Ø"°�hA±`Ø"°��A±�¥bÏ\ÛdÊpÒTÕqÛ
Í`Ç�Ê`Ñ=�}ÈX­�ÕqÛZÕ¼Ð

∂ϕ

∂ν

∣∣∣∣
S

= (Ω× « )ν − (ω × « )ν, ϕ =

3∑

i=1

ϕi(Ωi − ωi),

χi(Ω,ω) = ∂
∂xi

3∑

j=1

(Ω · ∇)ϕj(Ωj − ωj), i = 1, 2, 3.

¦HËNÎÁÑqÚ´ËNÊpÜTÝNÎ\Ó
ξ = (ξ1, ξ2, . . . , ξ6)

ØTáuÑ�Ê
ξi = Ωi

Ø
ξi+3 = ωi

Ø
i = 1, 2, 3

Ø Þ ÓqÊ`Ñ�ÍpÝ\ÏMË�ÕqÛ χi Ý\ÏMÜ¼Ð

χi(ξ) = ∂
∂xi

3∑

j=1

(
ξ1

∂
∂x1

+ ξ2
∂
∂x2

+ ξ3
∂
∂x3

)
ϕj(ξj − ξj+3), i = 1, 2, 3. (28)

Ô#�}ÒTÜTâTÕTÕ
χi
ÎÁÑqÒqÎ\ÓqÎÁÑqÒTÌúÎ\Ý�ÒqÎ�ÍpÕTÝNÊ`ÇqÙ�ÒqÎ

ξ1, ξ2, . . . , ξ6
Ð

χi(ξ) =

3∑

j,k=1

Aijkξjξk, i = 1, 2, 3,

áuÑ�Ê
Aijk ¢

Ü}Î\ÒqÍpÝ\ÏMÒTÝ�Ì��
¦HÌ�ÉTÕqÍ`ÇqÚ
Ú*Î\Ý/¬�Î\ÓqÛ(�bÇÑ°����A±xË�ÝNÎ\ÓTÌ¨Ê Þ ÓqÎ\Õ�¥ÁËNÎÁÑqÒTÌ¨Ê Þ Î ξ1, ξ2, ξ3

Õ%ÕqÍ Þ ÎMÇqÙ¡¥C��Ú*Ó�ÏMËNÊpÒqÍpÝ�ËQÏ Aijk =

= 1
2

∂2χi
∂ξj∂ξk

Ø Þ ÓTÕ
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ϕi
Ø
i = 1, 2, 3

ØÄÕqÛdÊpÈ.Ý
Ë�Õ
ÑÌ°^	�	�±`�

´zÏMÜTÕqÛIÎ¡µ\Ó�Ï�¥tÎ�Û�Ø�ÊÁÍ`ÇqÕ÷ËNÊpÜTÝNÎ\ÓTÌ
Ω
Õ
ω
�bÑ�Î\Ë\Ç�ÊpÝ�ËNÎ\ÓQÚ
È.Ý��NÍ`Ç�Î\Ë�ÕTÚTÛ |Ω − Ω0| < δ1

Ø |ω −
− ω0| < δ2
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Ö=ÛZÒqÎ\átÎ\É
Ç�ÊpÒqÎ\Ë ϕi Ø i = 1, 2, 3
ØzË�Õ
Ñ Ï®°^	�	�±`Ø

�bÑ�Î\Ë\Ç�ÊpÝ�ËNÎ\ÓQÚ
ÈX­�Õ
Ö"áÁÓ�ÏMÒTÕTÉTÒTÌ¨Ûò�NÍ`Ç�Î\Ë�ÕTÚTÛr°�f¡±`�À¯a¥Ó°����A±6Ë�Õ
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Ö"ÛZÒqÎ�£
átÎ\É
Ç�ÊpÒqÎ\Ë

ϕi
Ø
i = 1, 2, 3
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Ω
Õ
ω
�
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ω = 0
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